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1. LetA={1.23) and B = {a, b} then which of the following subsets of A X B is a mapping from
AtoB?

(@) (1,0, (@ b). 2. 8)} (&) {(1, b, (2,0). 3 @)} () (1, 8). (1)}  (d) none of these

2. Ontheset A = {1,2,3, 4}, a relation is R = {(1, 3), (4, 2), (2, 4) (2, 3), (3, 1)}. The relation R is
(3) a function 1) transitive (c) not symmetric  (d) reflexive

3. The relation “congruenco modulo” s

(o) rflexive only () twansitive only
(©) symmetric only (@) an equivalence relation

4. IFA and B are two sets. Then (A~ B) U (B-4) U (A 1 B) is cqual to
@ AUB (©) AL B © A @ B

5. sincot™tancos™x is equal to

@ x ) Vi-x* (© % (d) nons of these




[image: image2.jpg]6. If A be a sequenco matrix of arder 2x 2 then | KA | is equal to

@ KAl ) K*A] (© 3Ka| @ K3[A|

7. Iflog,5 = aand log, 6 = b then log, 2 is equal o

1 1 '
Sl
T ® 35 (© 2b+1 (O vy

e o 15 it

(h“} (d) hone of these

@

5. Ina AABCA=

w5 w3 © tan

0. The points (- 1, 1) and (3, - 1) are symmetrical about the line ;

@ x+y=0 )y =x © x+y=1 (@) none of thess
10. The range of the real-valued function f(x) = 9.x? is
@) 10.3] (b) [-3.3] © 3.0 (d) none of these.

1110000 = 25k then £ ., thetom o 3 s cqual 0

fx)+a (@=Df(x)+a+l (@4 Df)+a=1 8
® Trafe O irarraci. . G-Diwwas] (d) nono of those.

12 Ily-dnx‘nluli-mixllun% s cqual to

) = cosec x . cos X (B~ cosee o conx
S 3 180 180"
© %xw»mx% (@) none of thess
13, The derivative of l-n"z—"; with respect to sl —2X5. s
1-x 1%

® @ 0 @

1+x*
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" s equal to.

@ 1 o © 2 @ 3
15 2% 2101 (¢) is continuous at x = = then £ | shauld be
2x 2 2 2
; 3
() 1 b) 0 e) 2 {c) none of these
ks ok, XY
16, The curve F=Z touches the line -+ =2 at tho point
@ G.o) ® 6.h @ @ l.l]
b
2 B
a7 Voo s caual 0
0
(a) ®+2 ® H% © xv% (d) none of theso.
f
10, The value of [xe%d is
»
w2 ® 3 © o0 @1
. dy (dy 2
19, What is order and degree of this differential equation? x;—.;ﬂ T | RyAR=2 =0
© 02 o @ © @2 @ (.9
20, A dice is tossed thrice. What is the probability of getting a odd number at least once?
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